
1 dL      =       ........................................................................................................     cL

836 m³      =       ........................................................................................................     L

384,5 cL      =       ........................................................................................................     mL

992,31 m³      =       ........................................................................................................     hL

93 dL      =       ........................................................................................................     L

20 m³      =       ........................................................................................................     hL

54 L      =       ........................................................................................................     dm³

29 L      =       ........................................................................................................     dm³

73,6689 m³      =       ........................................................................................................     L

49 L      =       ........................................................................................................     dm³

422,405 L      =       ........................................................................................................     dm³

51,4958 dL      =       ........................................................................................................     cL

972,62 cm³      =       ........................................................................................................     mL

28,4357 cm³      =       ........................................................................................................     mL

54 m³      =       ........................................................................................................     L



1 dL      =     10 cL

836 m³      =     836000 dm³      =     836000 L

384,5 cL      =     3845 mL

992,31 m³      =     992310 dm³      =     992310 L      =     9923,1 hL

93 dL      =     9,3 L

20 m³      =     20000 dm³      =     20000 L      =     200 hL

54 L      =     54 dm³

29 L      =     29 dm³

73,6689 m³      =     73668,9 dm³      =     73668,9 L

49 L      =     49 dm³

422,405 L      =     422,405 dm³

51,4958 dL      =     514,958 cL

972,62 cm³      =     0,97262 dm³      =     0,97262 L      =     972,62 mL

28,4357 cm³      =     0,0284357 dm³      =     0,0284357 L      =     28,4357 mL

54 m³      =     54000 dm³      =     54000 L


